Transfers Report

This report contains the transfers results.

Contest Name

Ward 6 - Inverkeithing & Dalgety Bay

Valid Votes
Positions to be Filled
Quota

7,703 4 1,541

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
David BARRATT	Scottish National Party (SNP)	2,187
Ryan BLACKADDER	Elect a Scottish Green Councillor	634
Patrick Charles BROWNE	Scottish Labour Party	1,426
Dave COLEMAN	Scottish Conservative and Unionist	897
Sarah Ann DAVIS	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	93
Dave DEMPSEY	Scottish Conservative and Unionist	1,355
Callum John HAWTHORNE	Scottish Liberal Democrats	309
Sarah NEAL	Scottish National Party (SNP)	802
	Total	7,703

Candidate David BARRATT Elected with 2,187 votes, being in excess of the quota of 1,541

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of David BARRATT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan BLACKADDER	254	0.29538	75.02652
Transfer to Patrick Charles BROWNE	142	0.29538	41.94396
Transfer to Dave COLEMAN	38	0.29538	11.22444
Transfer to Sarah Ann DAVIS	8	0.29538	2.36304
Transfer to Dave DEMPSEY	87	0.29538	25.69806
Transfer to Callum John HAWTHORNE	26	0.29538	7.67988
Transfer to Sarah NEAL	1,558	0.29538	460.20204
No further preference	74	0.29538	21.85812
Not transferred due to rounding			0.00394
	Total		646.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Sarah Ann DAVIS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan BLACKADDER	19	1.00000	19.00000
Transfer to Patrick Charles BROWNE	4	1.00000	4.00000
Transfer to Dave COLEMAN	15	1.00000	15.00000
Transfer to Dave DEMPSEY	20	1.00000	20.00000
Transfer to Callum John HAWTHORNE	13	1.00000	13.00000
Transfer to Sarah NEAL	10	1.00000	10.00000
Transfer to Ryan BLACKADDER	2	0.29538	0.59076
Transfer to Dave DEMPSEY	3	0.29538	0.88614
Transfer to Sarah NEAL	3	0.29538	0.88614
No further preference	12	1.00000	12.00000
Not transferred due to rounding			0.00000
	Total		95.36304

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Callum John HAWTHORNE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan BLACKADDER	61	1.00000	61.00000
Transfer to Patrick Charles BROWNE	138	1.00000	138.00000
Transfer to Dave COLEMAN	16	1.00000	16.00000
Transfer to Dave DEMPSEY	45	1.00000	45.00000
Transfer to Sarah NEAL	21	1.00000	21.00000
Transfer to Ryan BLACKADDER	6	0.29538	1.77228
Transfer to Patrick Charles BROWNE	7	0.29538	2.06766
Transfer to Dave COLEMAN	2	0.29538	0.59076
Transfer to Sarah NEAL	8	0.29538	2.36304
No further preference	41	1.00000	41.00000
No further preference	3	0.29538	0.88614
Not transferred due to rounding			0.00000
	Total		329.67988

Transfers Report

This report contains the transfers results.

Stage 5 - Surplus of Patrick Charles BROWNE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan BLACKADDER	356	0.04405	15.68180
Transfer to Dave COLEMAN	243	0.04405	10.70415
Transfer to Dave DEMPSEY	228	0.04405	10.04340
Transfer to Sarah NEAL	128	0.04405	5.63840
Transfer to Ryan BLACKADDER	28	0.01301	0.36428
Transfer to Dave COLEMAN	10	0.01301	0.13010
Transfer to Dave DEMPSEY	9	0.01301	0.11709
Transfer to Sarah NEAL	66	0.01301	0.85866
No further preference	613	0.04405	27.00265
No further preference	36	0.01301	0.46836
Not transferred due to rounding			0.00273
	Total		71.01162

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Ryan BLACKADDER

807.43564

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dave COLEMAN	37	1.00000	37.00000
Transfer to Dave DEMPSEY	36	1.00000	36.00000
Transfer to Sarah NEAL	399	1.00000	399.00000
Transfer to Dave COLEMAN	6	0.29538	1.77228
Transfer to Dave DEMPSEY	2	0.29538	0.59076
Transfer to Sarah NEAL	196	0.29538	57.89448
Transfer to Dave COLEMAN	26	0.04405	1.14530
Transfer to Dave DEMPSEY	21	0.04405	0.92505
Transfer to Sarah NEAL	82	0.04405	3.61210
Transfer to Dave COLEMAN	1	0.01301	0.01301
Transfer to Dave DEMPSEY	2	0.01301	0.02602
Transfer to Sarah NEAL	10	0.01301	0.13010
No further preference	242	1.00000	242.00000
No further preference	58	0.29538	17.13204
No further preference	227	0.04405	9.99935
No further preference	15	0.01301	0.19515
Not transferred due to rounding			0.00000
	Total		807.43564

Transfers Report

This report contains the transfers results.

Stage 7 - Surplus of Sarah NEAL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dave COLEMAN	136	0.12621	17.16456
Transfer to Dave DEMPSEY	145	0.12621	18.30045
Transfer to Dave COLEMAN	185	0.03728	6.89680
Transfer to Dave DEMPSEY	173	0.03728	6.44944
Transfer to Dave COLEMAN	37	0.00555	0.20535
Transfer to Dave DEMPSEY	23	0.00555	0.12765
Transfer to Dave COLEMAN	6	0.00164	0.00984
Transfer to Dave DEMPSEY	9	0.00164	0.01476
No further preference	951	0.12621	120.02571
No further preference	1,407	0.03728	52.45296
No further preference	150	0.00555	0.83250
No further preference	61	0.00164	0.10004
Not transferred due to rounding			0.00490
	Total		222.58496

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Dave COLEMAN

1,014.85659

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dave DEMPSEY	873	1.00000	873.00000
Transfer to Dave DEMPSEY	22	0.29538	6.49836
Transfer to Dave DEMPSEY	129	0.12621	16.28109
Transfer to Dave DEMPSEY	200	0.04405	8.81000
Transfer to Dave DEMPSEY	172	0.03728	6.41216
Transfer to Dave DEMPSEY	6	0.01301	0.07806
Transfer to Dave DEMPSEY	36	0.00555	0.19980
Transfer to Dave DEMPSEY	5	0.00164	0.00820
No further preference	92	1.00000	92.00000
No further preference	24	0.29538	7.08912
No further preference	7	0.12621	0.88347
No further preference	69	0.04405	3.03945
No further preference	13	0.03728	0.48464
No further preference	5	0.01301	0.06505
No further preference	1	0.00555	0.00555
No further preference	1	0.00164	0.00164
Not transferred due to rounding			0.00000

Total 1,014.85659